
ZS

1 648 DCXLVIII – 148 CXLVIII = 500 D 5 V

535 DXXXV – 298 CCXCVIII = 237 CCXXXVII 3 III

1117 MCXVII – 361 CCCLXI = 756 DCCLVI 0

303 CCCIII – 125 CXXV = 178 CLXXVIII 7 VII

2 583 DLXXXIII + 297 CCXCVII = 880 DCCCLXXX 7 VII

1371 MCCCLXXI + 858 DCCCLVIII = 2229 MMCCXXIX 6 VI

466 CDLXVI – 276 CCLXXVI = 190 CXC 1 I

430 CDXXX – 315 CCCXV = 115 CXV 7 VII

3 800 DCCC – 71 LXXI = 729 DCCXXIX 0

870 DCCCLXX + 74 LXXIV = 944 CMXLIV 8 VIII

563 DLXIII + 37 XXXVII = 600 DC 6 VI

443 CDXLIII – 308 CCCVIII = 135 CXXXV 0

4 1096 MXCVI – 566 DLXVI = 530 DXXX 8 VIII

902 CMII + 738 DCCXXXVIII = 1640 MDCXL 2 II

866 DCCCLXVI + 324 CCCXXIV = 1190 MCXC 2 II

271 CCLXXI – 160 CLX = 111 CXI 3 III

ZS

1 542 DXLII – 55 LV = 487 CDLXXXVII 1 I

1296 MCCXCVI – 347 CCCXLVII = 949 CMXLIX 4 IV

883 DCCCLXXXIII – 70 LXX = 813 DCCCXIII 3 III

892 DCCCXCII – 183 CLXXXIII = 709 DCCIX 7 VII

2 191 CXCI + 90 XC = 281 CCLXXXI 2 II

977 CMLXXVII + 267 CCLXVII = 1244 MCCXLIV 2 II

657 DCLVII – 482 CDLXXXII = 175 CLXXV 4 IV

831 DCCCXXXI – 328 CCCXXVIII = 503 DIII 8 VIII

3 690 DCXC – 60 LX = 630 DCXXX 0

114 CXIV + 888 DCCCLXXXVIII = 1002 MII 3 III

855 DCCCLV + 613 DCXIII = 1468 MCDLXVIII 1 I

1147 MCXLVII – 484 CDLXXXIV = 663 DCLXIII 6 VI

4 1366 MCCCLXVI – 588 DLXXXVIII = 778 DCCLXXVIII 4 IV

833 DCCCXXXIII + 614 DCXIV = 1447 MCDXLVII 7 VII

325 CCCXXV + 919 CMXIX = 1244 MCCXLIV 2 II

961 CMLXI – 382 CCCLXXXII = 579 DLXXIX 3 III
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